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LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 
questions from questions no. 2 to 7. 

1. (a) Define the following : 	 4 

(i) Taxon 

(ii) Semantides 

(iii) Vestigial organs 

(iv) Peripatric speciation 

(b) Fill in the blanks : 	 3 

(i) IUBS stands for 	 

(ii) Botanic garden of Sibpur is located in 
the 	state of India. 

(iii) 	 deals with the study of 
fossil records of plants. 
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(c) Match the items given in Column A with 
those given in Column B : 	 3 

Column A 	 Column B 

(i) Father of Botany 	(a) Baron Cuvier 

(ii) Five Kingdom System (b) August 
Weismann 

(iii) Numerical Taxonomy (c) Whittaker 

(iv) Comparative Anatomy (d) Ernst Haeckel 

(v) Theory of Germplasm (e) Theophrastus 

(vi) Biogenetic Law 	(f) M. Adanson 

2. (a) Enumerate the merits and demerits of 
Hutchinson's system of classification of 
plants. 	 5 

(b) Critically evaluate the Lamarckian concept 
of evolution. 	 5 

3. (a) List major trends in the evolution of genus 
Homo. 	 5 

(b) With the help of a suitable example, discuss 
how biochemistry provides evidence in 
favour of evolution. 	 5 

4. (a) What is the action of Natural Selection on 
the populations under different 
environmental conditions ? 

	
6 

(b) List any four rules of nomenclature. 	4 
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5. (a) Enumerate various sources of heritable 
biological variations. 	 7 

(b) Give reasons for the incompleteness of the 
fossil record. 	 3 

6. (a) Describe the co-evolution of plants and 
herbivores in the Plant-Herbivore system. 	5 

(b) Morphology is the basic tool of taxonomy. 
Justify this statement by giving examples 
from plants. 	 5 

7. Write short notes on any two of the following : 2x5=10 

(a) Genetic drift 

(b) Cultural evolution 

(c) Geological time scale 
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